MTH 263, Homework #3, Summer 2023 Name

KEY

Instructions: Write your work up neatly and attach to this page. Record your final answers (only)

directly on this page if they are short; if too long indicate which page of the work the answer is on and

mark it clearly. Use exact values unless specifically asked to round.

L.

Find the derivative of the function.
a.y= %e" + 2cosx

. 900 = 2%

c.g(t) =Vt + 6csct
d. h(x) = 2sinxcosx

Find the second derivative of the function.
a. y=tanx

Find the derivative of the function.

a. f(x)=(4x—-1)3

X

b 9() = 7oy
y = ’-1_

. @sz') 2
h(x) = [(x? + 3)% + x]?
f(s)=e"*Ins
q(x) = 4*
y = logz(x)
y = sin (cos x)
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Find ﬁ implicitly.
a. x2—y?=25
b. sinx+2cos2y=1
c. In(xy)+5x=30
Inx s Iny £+ Sy = 30

Find an equation of the tangent line to the graph x?2 + xy + y? = 4 at the point (2,0). fnsf-{

., d%y _
Flndﬁforl—xy—x—y. Pc)q
Use logarithmic differentiation to find 3—:.

4 _ x(x-1)3/?
’ T Va+l
b. y=(1+x)¥*

Find the derivative of the function.
a. y=arctane*
b. f(x) = e**arcsec3x

e.y=w/§x+2cosx

f.h(x) = Vxsinx
secx

.Y =

X
h.y = 2xsinx + x%e*

b.y =xcosx + cotx

Pg) Z.
iy=3V6xz+1
oy = %xzwflé —xZ
2 3

_ (3t31
k-g(t) = (2r+5)
l. £(8) = tan?58
m.y = e\‘g} P‘D ?,,"%
n.s(t) = t22¢

0. h(t) =In (xzx+1) 2 lhx = [n (x21)

d. x2y 4+ y%x = -3
e.coty=x—y
f.tan(x +y) =x

F‘ZJ?’

.y =%t
d.y = x'n* ?ﬁq
C. g(x) - arccosx S...

x+1 F"’]
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